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Code-A

Question Questions
No.
1. | How many ml. of 20 M NH, must be diluted to 500.0 ml. to make a 0.80 M
solution :
(1) 10mL (2) 20mlL
(3) 25 mL (4) 80mL
2. | The half-life of a radioactive material is 12 years. The radioactivity of this
material falls to of its initial value after 72 years.
(1) 1/6 (2 1/8
(3) 116 (@) Ve4
3. Which of the following is not a secondary air pollutant ? |
(1) PAN (2 O,
@) SO, ' (4) Acidrain
4. | *2Rn is unstable and decays by losing 6 neutrons and 2 protons. The final
decay product is
(1) *Bi (2) 24Bi
(3) 24Po (4) 22Tl
5. | The percentage of nitrogen in urea is
(1) 23.3% | @) 22.0%
| B) 40.6% 4) 46.6%
6. | Which indicator is used in Winkler method titration during the estimation
of dissolved oxygen in water ?
(1) Potassium chromate (2) Starch solution
(3) Methyl orange (4) Phenolphthalein

MPH/PHD/URS-EE-2020 (Environmental Science) Code-A
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Code-A

estion Questions
No.
7. | Which of the following is locating agent of amino acids in Paper
chromatography ?
| (1) Ninhydrin - (2) Methyl orange
| () Phenolphthalein (4) Brilliant green dye
8. | Electrophoresis can not be used for the separation of :
(1) Amino acids (2) Proteins
(8) Lipids " (4) 'Nucleic acid
9. | SDS contains carbon atoms :
1 6 @ 10 @12 @ 16
'10. | Which of the following pesticide cont_aiﬁé sulphur atoms ?
| @ Malathion @ DDT
(3 2,4-D (@) Carbaryl
'11. | In an isothermal process, the internal energy :
(1) increases
(2) decreases
(3) first increases then decreases
(4) remains constant
12 Wind roses typically use _ cardinal directions.
e @8 @B @

MPH/PHD/URS-EE-2020 (Environmental Science) Code-A.
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Code-A

Qu;sﬁoﬂl . Questions
0.

1 13. | In which layer of the atmosphere, air is dry ?

(1) Troposphere (2) Stratosphere

(3) Thermosphere (4) Ionosphere

14. Which among these has maximum percentage (by volume) in dry air ?

(1) - Carbon dioxide | (2) Argon
3) Méthéne | @ Hydrogen

! | 15. | Which of the following is not amongst the components of photochemical
- smog ? |

(1) Unsaturated hydrocarbon (2) NO,

3) SO, (4 Ozone

M 16. | India is considered under which region in zoogeography ?
(1) - Neotropical | (2) Palaearctic
(3) Ethiopian (4) Oriental

. 17. | Which of the following is longest mountain range ?
(1) The Andes

(2) The Himalayas

(3) The Ural Mountains

(4) The Kunlun Mountéins

MPH/PHD/URS-EE-2020 (Env_iron.mental Science) Code-A
| (3) |



Code-A

uestion

Questions 1!

L

No.
18.

The correct sequence of four stages of water movement in the hydrological

cycleis :
(1) Evaporation - Condensation - Precipitation - Infiltration
(2) Evaporation - Precipitation - Condensation - Infiltration

(3) Précipitation - Evaporation - _Condensation - Infiltration

| (4 Precipitation - Evaporation - Infiltration - Condensation

19.

In an ecosystem, energy flow is :
(1) Always unidirectional

(2) Always bidirectional

(3) Inany direction

(4) Alwaysdown direction |

20.

The number of The Sustamable DeveIOpment Goals (SDGs) adopted by all
Umted Nations Member States in 2015 18__ |

m 7 @12 @17 4 o
21. | Food chain always starts with ____
| (1) Photc;synthesis (2) Respiration
(3) Transpiration @ Denitrification
22, g

Vmegar 18 prepared from alcohol with the help of ; .
1) Lactobaczllus

(3) Azotobacter

(2) Acetobacter
(49) Rhizobiym

MPH/PHDIURS—EE—2020 (Envlronmental
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Questions

[
'93. | The diversity of habitats over the landscape or geographical 2area is
known as:
| (1) Alpha diversity (2) Beta diversity
| (3) Gamma diversity (4) Species diversity
24. | Which of the following PYI'MId is always upright ?
] s (1) Pyramid of number
(2) Pyramid of energy
- (3) | Pyramid of biomass
(4) All of the above
- 25. Wiu'ch one of the following is fou-nd-in tropical rainforests ?
i (1) Neem tree L (2) Mahogariy tree
(3) Teak tree (4) Sandalwood tree
26. | Which one of the following lakes is formgd due to wind action ?
| (1) Aeolian lakes (2) Shoreline lake |
(3) Solution lake | (4) Lateral lake
27. Siberién crane is regular visitor of Wﬁich national park ?

(1) Keoladeonational park
(2) Dudhwa national park
(3) Bandipur national park
(4) Kanhanational park -

'MPHIPHD/URS—EE—2020 (Envu'onmental Science) Code-A
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estiory | Questions
ND- , I

28. | Law of minimum was given by :

(1) Shelford

(2) Leibig

(3) Blackman (4) Clement

- 29. | Red Data Book is published by : |
(1) IUCN (2) USEPA ".
1

3 WWF (4) 1G-BP |

30. | The area where two major communities meet and together is termed as :|

(1) Ecads ~ (2) Ecotype
" (4) Timber line

1 (3) Ecotone

31. | Which one of the following is not correctly matched ?
(1) Calcium - Dolomite @ Uranium- Pitchblende
(3) Lead- Galena (@) Mercury - Malachite

32. | The amount of water vapor in the air as a proportion of the nia}dmm

amount the air could hold at the temperature is called as
| (1) Relative humidity  (2) Dew point |
3) | Eyaporation rate (4) Infiltration

33. | Which of the folldwing is most abundant natural acid ?
(1) Hydrochloric acid (2) Phosphoric acid
(8) Carbonicacid (4) Nitric ac1d

MPH/PHDIURS—EE—2020 (Envu'onmentnl Sclence) Code-A
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E\I—;I?“ | | ) Questions

34. Which one of the following is correct ?

(1) Soil organic matter (%) = 1.472 X Soil organic carbon (%)
(2) Soil organic matter (%) = 1.724 x Soil organic carbon (%)
(3) Soil organic matter (%) = 0.58 x Soil organic carbon (%)
(4) Soil organic matter (%) = 1.274 % Soil organic carbon (%)

35. | The altitudinal distance of a geostationary satellite from the earth is

about _
1 @ 22,000km ' ) 28,000km
| @ 36,000 km (4) 42,000 km

'36. | Which of the following is correct ? _
| (1) Refractive index of the ocean water increases with salinity
(2) Refractive index of the ocean water increases with temperature

(3) Refractive index of the ocean water decreases with salinity

@) Refractive index of the ocean water decreases with temperature

O fécelif'eé rainfall from both the .South-West and North-West
| monsoons. ‘

(1) - Lakshadweep Islands

(2) Andaman and Nicobar Islands
(3) Tamilnadu

(4) Jammu and Kashmir

MPH/PHD/URS-EE-2020 (Environmental Science) Code-A
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38.

' : cldnes ?
Which of the following is not correct about Tropical ¢¥ .
stem characterized by

(1) A tropical cyclone is a rapidly rotating storm 8Y

a low-j)ressure .
ard by the westerlies

(2) Tropicalcyclones are steered primarily westw
e formation

(3) Atleast 26.5 °C sea surface temperature is rec_;un‘ed for th

~of a tropical cyclone
(4) Tropical CYclones are steered primarily westward by the Easterlies

39..

- (1) Rmhtex lcale - (2) Mercal].l scale

Whmh one of the following is the Intenmty acale of the earthquake ?

(3) Kelvin qcale : (4)_I Mohs :s::ale |

40.

Tsunami is caused by s
(1) Earthquake (2) Hurricane
(3) Elnino @ Landslides

41.

| 1) Fermentation, Pre-treatment, Sacchanﬁcatmn Distillat;
ation

The sequence of processes for production of ethanol from lignocellulosic

biomass is:

2 Pre-treatment Saccharification, Dmtﬂlatlon Fermentat;
entation
3) Sacchanﬁcatlon Distillation, Pre-tre
atment Fer
mentation

(4) Pre-treatment, Saccharification, 1"
ermentatmn Distillas:
stillation

"GH’HIPHDIURS—EE-ZOZO (Environmenta]
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Qulf[f"“ Questions
42. | Which radioactive isotopelis used in geological dating ? |
(1) Cobalt-60 (2) Corbon-14
(3) - Uranium-238 () Tochnetium-99
| 43; The temperature at the inner core’s surface of earth is estimated to be
approximately __ .
(1) 2,200K (2) 3,500K
(3) 4,700K (4) 5,700K
44. | The percentage of CO, in biogasis: . =
ot | () 50-65% - @ 30-50%
(3) - 10-20 % (4) CO, is not present in biogas
48. Thg rate of solar enérgy reaching the egrth surfaceis
(1) 526W (2 912w
(3 1016W | 4) 23x10°W

46.

Anemometer is used for the measure of
(1) Ambient temperature

(2) Humidity

(3) - Altitude

(4) Wind speed

MPH/PHD/URS-EE-2020 (Environmental Scieq
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47. | Correct order of Uranium decay series is :

(1) Uranium — Radium — Polonium —» Thorium

(2) Uranium — Polonium — Radium — Thorium
(3) Uranium — Radium — Thorium — Polonium

(4) Uranium — Thorium — Radium — Polonium

_48.‘ Pyrolusite is an ore of :
- | @) Uranium (2) Niobitn
(3) Manganese  (4) Titanium

49. | Velocity of geostationary satellite with respect to earth is :
(1) zero (2) 10 m s™
3 10ms @) 15m s

50. | The main constituents of Liquefied Petroleuﬁ Gas (LPG) are :
(1) Methane +ethane - | |

(2) Ethane + propane

(3) Propane -+ butane

(4) Butane + acetylene

51. | As per IS 10500 : 2012, Acceptable limit of nitrate (as NO

wateris: 3) o Gy
(1) 16mg/L (2) 45 mg/L,
(3 55mg/L - - (4 100mg/,

MPH/PHD/URS-EE-2020 (Environmenta] Soi—————
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52. | Asperthe Noise Pollutmn (Regulation and Contrcl) Rules, 2000, the night

time limits of noise in residential area is :
(1) 35dB(A)Leq (@) 45dB (A)Leq
(3) 55dB (A)Leq (4) 75dB (A) Leq

53. | According to the amount of gas dissolved in a liquid is proportional

to its partial pressure above the liquid.
(1) Dalton’s Law

(2) Henry's Law

(3_)' Gay Lussécl’s Law

@ - RacultsLaw

54.. -Sulphur-' dioxide in ambient air is detel'x;lined by :
. (1) 'Modiﬁed West and Gaeke Method

@ Jackson Candlemethod

(8) Jacob and Hochheiser modified Method

(4) Gas Phase Chemiluminescence method

- 55. | “Fanning” plumes are obtained undex:
_(1) unstable atmosphere
(2) neutral atmospheric conditions
(3) super adiabatic environment

| @) extreme inversion condition

MPI‘I/PHD/URS—EE—20"0 (Environmental Science) Code-A
Tooan
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56. | After 5 days of incubation at 20°C, the residual dissowed O"‘yget; 1:0 njis
. was 7.80 mg/L and in a 0.1 percent dilution of the waste was 2. |
What is the 5-day BOD of the waste ?
(1) 55mg/L -~ (2) 550mg/L
3) 5500 mg/L (4) 56000 mg/L .
57. How much oxygen (O,) in gm is required for complete combustion of 44g of
propane ? -
W s2zg @ o4g
3) 82g | (4) 160g
58. | Turbidity of water can be determined by :
(1) Hydrograph ce
(2) Nephelometer _ |
(3) Atomic absorption spectrophiotometer
(4) Liquid Scintillation counter |
59. | The soil order “vertisol” is related to :
(1) Alluvial soil - (2) Red soil
(3) Black soil (4) Laterite soil
60. | Which one of the followipg i.s nlot | suitable worm species for

vermicomposting ?
(1) Eisenic fetia @ Budrilus eugenig,

(3) Pheretimaposthuman  (4) Periohyy éxcavatys

fﬁH/PHDfURS'EE_zom (Environnlenfal S

a» . oenee) Codea



. Code-A

o . Questions

61. | The groundwater of the Bangladesh is severely polluted by which heavy

metal ?
M .Lead (2) Arsenic
) Cadmium (4) Mercury

62. Which committee reviews the EIA-aﬁd EMP reports of developmental
| projects in Ministry of Environment, Forest and Climate Change ?

(1) Project Assessment Committee

@ Project Evaluation Cormmittee

(3)_ Environmental Clearance Committee

4) Envirqnmeﬂt Appraisal Committee

" 63. Wlnch of the following is not a step. of EIA methodology ?
(1) Baselinestudy . (2) Scoping
| ® Environmental auditing (4) Screening

64. | Which of the following methodologies can not be used for assessing the
- | impacts of any developmental activity on the environment ?

(1) Adhoc method ~ (2) 'Tlexible method
(3) Overlay method (4) Matrix method

65. | The number of environmental factors listed on the vertical axis in Leopold
Matrix to carrying out the Environmental Impact Assessment :

22 2 u
@ 66 (@ 88,

MI’H/PHDIURS—EE'—2020 (Environmental Science) Code-A
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66. | Which one represent the Environmwtql Management System ?
(1) 1809001 (2) 15014001
3) OHSAS 18001 (4) 1S0 21001 R
67. | The concept of environmental auditing in industrial units in India was
formally introduced in which year ?
@ 1974 @ 1981
(3) 1992 | (@) 2006 I
68. | In EIA Three ov erlapping phasea 1dentxﬁcat10n, prediction and evaluatlonk
' belong to: ‘ 1:
(1) ImpactAnalysis = (2) Decision making
() Reporting ' (4) Review
69. The Umted Nations Commission on Sustamable Development (CSD) was
established by the UN General Assembly in which year? ?
(1) 1992 | @) 1999
(3) 2016 @) 2020
70. | AccordingtoS
P iumitiv:::::ramgm:?;f:i:l2016 » Special Economic Zones
and recycling facility. area of the plot for recovery
1 1% @ 2%
| 3) 3% @ 5

MPH/PHDIURS—EE~2020 (Envlronmental Boton. o
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Q“‘*"io‘* . Questions
71. | Which of the following is excludéd from the scope of Basel convention ?

(1) Radioactive waste
(2) Clinical waste
(3) Waste of explosive nature

(4) Waste oils/water, hydrocarbons/water mixtures, emulsions

72.

| @ Ignitability (4) Biodegradability

Which one of the following_'is not a characteristics of hazardous waste ?

(1) Corrosivity | (2) Toxicity

3.

colour plastic bags are used.

For the collection of Anatomical 'wasi_:e
(1) Red " (2) Black
@) Yellow  (4) White

74,

If plastics arc burnt in incinerator at low temperature then which of the
following gases are produced ? | |
(1) Phosphine ~ (2) Dioxins and furans

(3) Radon (4) Acetylene gas |

75.

)

The calorific value of solid waste can be determined experimentally
using __ | we M

(1) UV-Vis Spectrophotometer
@) ICP-MS

(3) Bomb calorimeter

(4) Flame photometer

MPH/PHD/URS—EE—-202O (Environmental Science) Code-A
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Quﬁsgfﬂn Questions
76, Whibh of the following scale is used to determine'the hardness of the solid)
waste ?
(1) Mokh's scale (2) Kelvin's scale
(3) Avogadro’s scale (4) Dobson’s scale
77. | Incineration process is done at a temperature of '
(1) 60-100°C (2) 350-500°C
(3) 850-1100°C (4 1560-2000°C
78. | Which one of the following is not a-Composting method ?
(1): NADEP izethod  (2) Bangalore method
| ® MongaloreMethod ~ (4) Indore method
79. is used as a natural liner in landfills.
(1) Clay ; (2) HDPE
(3 Silt (4) Gravel

80.

i

Which of the following is not correct aBout Lotka — Volterra mociel 2
(1) Deals with predator-pray interactions '
(2) It has a pair of second-order linear differentia) equations

(3) This model assumes that the prey Population findg
all times ‘

ample food at

(4) This model assumes that predators haye limitless appet;t
etite

MPH/PHD/URS-EE-2020 (Environmenta] Science)m §-
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81.

| mean is 6. Then the Harmonic mean of the set of observations is :

If the Anthmatlc mean of a set of two observations is 9 and its Geometric

1 2 @ 4

82,

| ) Microorganism growth

_(2) Ruk assessment

| '(3) Predator-prey mtaractlons _‘ "
(4) Alrpollutlon dlsperamn =

Gaussian Plume model is about :

'Chl squnre curve ranges from
| (l) --wto-l«0 @ -wted
| ® otew @ Oto1
_ 84. | Mode of the series 0,0, 0, 2,2, 3, 3, 8, 101s:
™o - @ 2
® 3 w0

85.

- The midpoint of the values after they have been ordered from the smallest
to the largest or the largest to the smallest is called :

(I) Mean "~ (2) Median
(3) Lower quartﬂe (4) Upper quartile

MPI-IIPHDIURS-EE—2020 (Envnronmeptal Science) Code-A
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86. Thé probability of an event cannot be :
(1) 0.3 | (2) 05

-0 . @) 1.0

3 -0.6 ( ‘ ) =

87. | What is the Median of the following set of scores ? 3,6,9, 4, 7,2, 8
(1) 3 2) 4
3) 6 4 9

- 88. | Ifall frequencxes of classes are same, the value of Chl-square 18

(1) Zero (2) One
(3) Infinity | (4) Can not be predicted

89, | Which of the fo].lewmg radmt;ons has maximum energy ?

| (1) Infrared radiations -

(2) Gamma radiation
(3} UVradiations
(4) Microwave radiations

90. | Sardar Savaar Dam is built on which rive_f ?
(1) Krishna river (2 Cauvery rivep
() Narmadariver ~ °  (4) Bhagirathirivey

91. | Which of the following is a Pozzolana, material ?

(1) Cement (2) Flyash
(3) Riversand (@ Activateq sludge

(18) .
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Que | Questions

92. | What are Bharat Stage VI (BS VI) standards ?
(1) Drinking water standards
(2) Ambient air quality standards

(3) Emission standard from vehicles

(4) Emission standard from brick kilns

93. | Which gland of human body is affected by Iodine deficiency ?

—— e —

(1) Pituitary gland (2) Pinealgland
(3) Hypothalamus (4) Thyroidgland -
94. | The octane number of iso-octane is ?
@ o @ 1
|@ 10 (@) 100

95. | Photolysis of NO, occurs due to the radiations of which wavelength ?
(1) <390nm (2) 400-450 nm
(3) 500-574nm . @ >574nm

96. | Which of the following has maximum tendency to combine with

haemoglobin ?
(1) CO (2) NOx
(3) SOx (4) Pb

MPH/PHD/URS-EE-2020 (Environmental Science) Code—A.
9
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uﬁfm ~ Questions - j
- 97. | Which of the following is not a criteria air pollutanf :
(1 Co (2) CO,
@ Pb . 4 O, “ | | ' .
98. | Efficiency of primary production in an ocean is _—°
| @) 0.02% . (@ 02%
@) 2% @) 20%

| 99. | Wastewater detontion time in Gnt: chamber is :
| @ 2minutes () 2hours
(3 8hours , (4) 2days

" 100. In whxch season is the ozone found at 1ta mammum level in the northern

hennsphere" e
| @ Winter v, "(2)_' Spring
@) Summer . (@ Autumn

A e

H/PHD/URS—EE—2020 i o
e (Env r?;o!)n ental S@lence) Code-A
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“lf‘.s:""- - Questions

1. { Which of the following is excluded from the scope of Basel convention ?
| (1) Radioactive waste

| 9 Clinical waste

() Waste of explusive nature

(4) Waste oils/water, hydrocarbons/water mixtures, emulsions

2 | Which one of the following is not :i characteristics ot_' hazﬁ@ua waste ?

- (1) Corrosivity | (2) Toxicity
} O Ignitability (4 Biodegradability
8. | For the colléction of Anatamical waste colour plastic bags are used.
(1). Red ~ (2) Black
{ @ Yellow | & White
4. If plastms are burfit in incinerator at low temperature then which of the
| following gases are produceﬂ ?
| (1) Phosphine (2) Dioxins and furans
| ® Radon | (4) Acetylene gas

8. | The calorific valug of solid waste can be determined experimentally
using

(I) UV-Vis Spectrophotometer
2) 16P-MS

(3) Bomb calorimeter

| (4 Flanie yhotometer

MPH/PHDmRs_EE—z:m (Environmental Science) Code-B
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Quﬁiion | Questions :
6. . Which of thefnllo\mng scale is used to determine the hardness of the solid| .
waste ? ‘ | | |
(1) Mob's scale (2) Kelvin'sscale
(8) Avogadry’s scale (4) Bobson’s scale

- 7. } Incineration process is done at a temperature of .
(1) 60-100°C @) 360-500°C
- (3) 850-1100°C - M) 1500-2000°C

8. | Which one of the following is not a Composting method ?
] () NADEPmethod (?) Bangalore method
| (3) MangaloreMsthod  (4) Indore method

9. : is used as g natural liner in {andfills.
1@ Clay (2) HDPE
' (3) Siit @) Gravel

10. | Which of the following is not correct about Lotka — Volterra mode] ?
' (l) Denls with predator-pray interactions |

[ @ Ithas a pair of second-order linear differential equations

| ® This model assumes that the Prey population finds ample food at
all times

(49) 'This model assumes that predators have limitless appetite

 MPH/PHD/URS-EE-2020 tEﬂvIrdgjmenta} Science) Code R
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‘11 | As per IS 10500 : 2012, Acceptable limit of nitrate (as NO,) in drinking
water is :
(1) 15mg/lL @ 45meglL
(3) 55mg/L (4) 100 mg/L
12. | Asper the Npise Pollution (Regulation and Control) Rules, 2000, the night
] time limits of noise in residential area is :
(1) 35dB (A)Leq @ 45dB (A)Leq
® 55 dB (A) Leq @ 75dB@Y) Leg
13. | According to the amount of gas dissolved in a liquid is proportional
to its partial pressure above the liquid.
{ (1) Dalton'slaw
' (2) Henry'sLaw
| | (8 GayLussacsLaw
| (9 RooultsLaw
14. | Sulphur dioxide in ambient air is determined by :

| (1) Modified West and Gaeke Method
| @ JacksonCandle method

' (3) Jacob and Hochheiser modified Method
4 GaB_ Phage Chemiluminescence method

MPHIPHD/URS-EE-ZMD {(Environmental Science) Code-B
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15, “Fanning” plumes are obtained under :
(1) unstable atmosphere

(2) neutral atmospherie conditions
(3) super adiabatic environmerit

(4) extreme inversion condition

After 5 days of incubation at 20°C, the residual dissolved oxygen in blanks
was 7.80 mg/L and in a 0.1 pereent dilution of the waste was 2.30 mg/L.

What is the 5-day BOD of the -w#ste ?

18.

[ (D 55my/L @ 8550my/L
(3) 5500mg/L (4 55000mg/L
19. } How much oxygen {0,)in gm is required for mﬁplete combustion of 44g of
{ propane ? |
_ 1) 32¢g 2) 64g
| (3) 82g | D 160g

18, | Turbidity of water can be determitied by : -
1 @) Bydrograph |
(2) Nephelometer
(3) Atomie alisomtiun spectrophotometer
(4) Liquid Scirttiflation counter

- 19. | The soil otder “vertisol” is related to: -
{ (1) Alluvial soil (2> Red soil
3) Bl_qu soil : (4) Laterite soil
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-20. | Which one of the following is not suitable worm species for
vermicomposting ?
(1) Eisenia fetia (2) Eudrilus eugeniae
(3) Pheretima posthuman (4) Periohyx excavatus
21. | Which one of the follqwing is not correctly matched ?
(1) Calcium - Dolomite (2) Uranium - Pitchblende
| 3 Lead-Galena (4) Metcury - Malachite
22, | The amount of water vapor in the air as a proportion of the maximum
amount the air could hold at the temperature is called as .
' (1) Relative humidity (2) Dew point
(3) Evaporation rate | 4) Inﬁitration
23. | Which of the following is most abundant natural acid ?
(1) Hydrochloric acid (2) Phosphoric acid
(8) Carbonic acid (4) Nitric acid
24. | Which one of the following is correct ?
| (1) Soil organic matter (%) = 1.472 X Soil organic carbon (%)
| (2) Soil organic matter (%) = 1.724 x Soil organic carbon (%)
(3) Soil organic matter (%) = 0.68 % Soil organic carbon (%)
(4) Soil organic matter (%) = 1.274 x Soil organic carbon (%)

VIPH/PHD/URS_EE-2020 (Environmental Science) Code-B
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~ 25.

The altitudinal distance of a geostationary satellite from the earth ig
about __

(1) 22,000km ~ (2) 28,000km

(3) 36,000 km (4) 42,000 km

26.

| (2) Refractive index of the ocean water increases with temperature

(8) Refractive index of the ocean water decreases with salinity

Wh_ich of the following is correct ?

(1) Refractive index of the ocean water increases with salinity

(4) Refractive index of the ocean water decreases with temperature

27.

| (1) Lakshadweep Islands

} (9 Andaman and Nicobar Islands
' (3) Tamilnadu '
| (4) Jammuand Kashmir

| receives rainfall from both the South-West and North-West

monsoons.

28.

| Which of the following is not correct about Tropical cyclones ?

; (2) Tropical cyclones are steered primarily westward by the westerlies

(3) Atleast 26.5 °C sea surface temperature is required for the formation

| (40 Tropical cyclones are steered primarily westward by the Easterlies

(1) Atropical cyclone is a rapidly rotating storm system characterized by
a low-pressure

of a tropical cyclone

MPHIPHDIURS—EE-—ZUZB (Environmental Science) Code-B
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29. | Which one of the fo]lowmg is the Intensity scale of the earthquake ?
(I) Richter scale (2) Mercalli scale
(3) Kelvin scale (4) Mohs scale
30. | Tsunami is caused by
(1) Earthquake (2) Hurricane
(3) Elnino : (4) Land slides
31. | In an isothermal process, the internal energy :
I (1) increases
,h (2) decreases _
- (3) first increases then décreases
(4) remains constant
32. | Wind roses typidally use cardinal directions.
. a 4 @ 8 ©® 18 @ 32
33. | In which layer of the atmosphere, air is dry ?
| (1) Troposphere (2) Stratosphere
- (3) Thermosphere (4) Ionosphere
34. | Which among these has maximum percetitage (by volume) in dryhair ?
| O Carbondioxide @ Argon
| 8 Methane (4) Hydrogen

MPH/PHD/URS-EE—ZOZ(} {(Environmental Science) Code-B

(7)




Code-B

uestion

Questions

No.

36.

. sl
Which of the following is not amongst the components of photochemica

smog ?
(1) Unsaturated hydrocarbon (2) NO,
(3 80, "~ (4) Ozone

36.

| India is considered under which region in zoogeography ?

(3) Ethiopian (4 Otiental

(1) Neotropieal (2) Palaedrctic

37.

| (4 The Kunlutt Meuntains

Which of the following is lﬁng'ést mountain range ?
(1) The Andes | |

(2) ‘The Himalayas

(3) The Ural Mountains

. 38.

The correct sequence of four stages of water movement in the hydrological

cycleis :

(1) Evaporation - Condensation - Precipitation - Infiltration

(2) Evaporation - Precipitation - Condensation - Infiltration
(3) Precipitation - Evaporation - Condensation - Infiltration

(4) Precipitation - Evaporstion - Infiltration - Condensation

. MPH/PHD/URS-EE-2020 (Environmentg} Science) Code-B
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39. | In an ecosystem, energy flow is 3
(1) Always unidirectional

(2) Always bidirectional

(3) In any direction

(4) Alwaysdown direction

40, | The number of The Sustainable Development Goals (SDG&), adopted by all
United Nations Member States in 2016 is

@ 7 @ @ 17T @4 24 .
41. Whlch of the foﬂowmg is & Pozzolana, matenal T
(1) Cement - {2y Flyash
3) River sand (4) Activated sludge

42. | What are Bharat Stage VI (BS VI) standards ?
(1) Drinking water standards

(2) Ambient air quality standards

(3) Emission standard from vehlcles

(4) Emission standard fmm brick kﬂns

43. | Which gland of human body is affected by Iodine deficiency ?
(1) Pifuitary gland (2) Pineal gland
3) Hypothalamus (4} Thyroid gland

MPH/PHD/URS-EE-2020 (Environmental Smence) Code-B
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44. The octane number of iso-octane is ?

@ o @ 1

3) 10 (4) 100

- 45.

| ® 500-574nm (4) >574nm

- 9
Phatolysis of NO, occurs due to the radiations-of which wavelength ?
(1) <390nm () 400-450nm

M co (@ NOx
 (3) 80x @ P

Which of the foHowing has maximum tendency to combine with

haemeglobin ?

47.

| Which of the following is not a criteria air pollutant ?
{ (D CO (2) CO,
1@ Pb @ 9,

48.

| Efficiency of primary production in an ocean is
@ 0.02% @ 0.2%

@ 2% @ 20%

49.

Wastewater detention time in Grit chamber is :
(1) 2minutes (2 2hours
(38) 8hours 4) 2days

MPH/PHD/URS-EE-2020 (Environmental Scien
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50.

In which season is the ozone found at its maximum level in the northern
hemisphere ?

(1) Winter (2) Spring
(3) Summer (4) Autumn

51.

rhetal ?

(3) Cadmium (49 Mercury

The groundwiter of the Bangladesh is severely polluted by which heavy

(1) Lead (2) Arsenic

52.

| 2) Project Evaluation Committee
| (3 Environmental Clearance Committee
- (49) Environment Appraisal Committee

Which committee reviews the EIA and EMP reports of developmental
projects in Ministry of Environment, Forest and Climate Change ?
(1) Project Assessment Committee

53.

- Which of the following is not a step of EIA methodology ?
| (1) Baseline study - (2) Scoping

(3) Environmental auditing (4) Screening

54.

- Which of the following methodologies can not be used for assessing the
' impacts of any developmental activity on the environment ?

(1) Adhoc method (2) Flexible method
(3) Owverlay method (4) Matrix method

MPH/PHD/URS-EE-2020 (Environmental Science) CodeB
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| . ical axis
The number of environmental factors listed on the v ertica

56,
| Matrix to carrying out the Environmental Impact Assessment :
1) 22 2 4
(3) 66 - (4) 88
56. | Which one represent the Environmental Management System ?
1 (1) ISO9001 | (2) ISQ 14001
| (9 OHSAS18001 (4) 18021001
| 57. | The concept of environmental auditing in industrial units in India was
formally introdueed in which year ?
(1) 1974 : (2) 1981
| @ 1992 (4) 2006
58. { In FIA, Three overlapping phases : identification, pfediction and evaluation
| belongto:
(1) Impact Analysis (2) Decision making
3) Reporting (4 Review
59—._ The United Nations Commission on Sustainable Development (CSD) was

established by the UN General Assembly in which year ?
(1) 1992 (2) 1999
3) 2016 (4) 2020

MPHIPHD/URS—EE—zﬁZO (Environmental Science) Code-B
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60. | According toSolid Waste Manageﬁlent Rules, 2016, Special Economic Zones

(SEZ) to earmark at least of the total area of the plot for recovery
and recycling facility.

D 1% Q) 2%
@) 3% 4 6%

61. | If the Arithmetic mean of a set oftwo observations is 9 and its Geometric
mean is 6. Then the Harmonic mean of the set of observations is :

(1 2 2 4
@ B @ 54

62. | Gaussian Plume model is about
| (1) Microorganism growth

| @) Risk asseasinent

1 (3 Predator-prey interactions
. {4) Air pollution dispersion

63. | Chi-squé.r.’e curve ranges from :
| () —oto+e (@) -otoD
@) Otow (@ Otol

64, | Mode of the seri¢s 0, 0,0, 2, 2,3, 3,8, 10is :
@ o0 | 2) 2
@ 3 @ 10

MPH/PHD/URS-EE-2020 (Environmental Science) CodeB
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65. | The midpoint of the values after they have been ordered from the smalles .
| | to the largest or the largest to the smallest is called :
(1) Mean - (2) Median
| (3) Lower quartile (4) Upper quartile
66. | The probability of an event cannot be :
(1) 0.3 : (2) 0.5
I 3 -05 @) 10
67. { What is the Median of the folowing set of scores 7 3, 6,9, 4,7, 2, 8 :
o 3 @14
3) 6 @ 9
68, | If aIl frequencies of classes are same, the value of Chi-squareis
(1) Zero (2) One
' (3) Infinity @ Can not be predicted
- 69. | Which of the fo]lowmg radlatlons hHas maximam energy 7
| (1) Infrared radiations
(2) Gamma radiation
(3) UV radiations
' (4) Microwave radiations
70. | Sardar Sarovar Dam is built on which river ?
(1) Krishna river (2) Cauvery river
(3) Narmada river (4) Bhagirathi river




Code-B

- Ruesdion Questions

71. | The sequence of processes for production of ethanol from lignocellulosic

biomassis :

(1) Ferment'ation, Pre.-treatment, Saccharification, Distillation
(2) Pre-treatment, Saccharification, Distillation, Fermentation
(3) Saccharification, Distillation, Pre-treatment, Fermentation

' (4) Pre-treatment, Saccharification, Fermentation, Distillation

' 72. | Which radioactive isotope is used in geological dating ?
(1) Cobalt-60 @) Cotbon-14
| @) Uranium-238 | (4) Technetium-99

78. | The temperature at the inner cgre’s surface of earth is estimated to be

| approximately
() 2,200K | @) 3,500K
| ® 4,700K | (4) 5,700K

~ 74. | The percentage of CO, in.biogas is :
| @) 50-65% @) 30-50%
| @ 1020% () CO, isnot present in biogas

75. | The rate of solar etfergy reachitig the earth surface is
| 1) 526W . (@) 912W
| ® 1016w | 4) 2.3x10°W

MPHIPHDfURS—EE—ZGZD {Environmental Science) Code-B
(15)



Ronecloc  Qpuiiane . e
| 76. | Anemometer is used for the measure of -
(1) Ambient temperature
(2) Humidity
| 3 Altitude
| (49 Wind speed
77. | Correct order of Uranium decay series is :
) Urﬁnium —» Radium —» Polonium, — Thorium
(2) Uranlum —» Polﬁnium - Radium — Thorium
- (3) Uranium — Radium — Thﬁrium — Polonium
| ) Urenium —» Thorium — Radium — Polonium
78, | Pyrolusite is an ove of :
- (1) Uranium | (2) Niobium
{ @ Manganese (@ Titanium
78. VGIOCitY of geostationary satelhte with respect to earth j is :
| O zero @ 10ms
| @ 10ms @ 16mg
- 80. | The main constituents of Liqj P _
| (D Met’haﬁé +ethane quef:)d I;i:':z“f e (.LPG) are:
o il Propane
(3) Propane +butane @) B“taFQ + acetylene

- MPH/PHD/URS-EE-2020 (Environmental 5o
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81. | Food chain always starts with .
(1) Photosynthesis " (2) Respiration
(3) Transpiration (4) Denitrification
82. | Vinegar is prepared from alcohal with the help of :
(1) Lactobacillus (2) Acetobacter
(3) Azotobacter o (4 Rhizobium
83.- | The diversity of habitats over the landscape or geographical 2area is
| known as: ‘
(1) Alpha diversity  (2) Beta diversity
(38) Gamma diversity (4) Species diversity
84. | Which of the following pyrarmid is always upright ?
(1) Pyramid of nurmnber
(2) Pyramid of energy
(3) Pyramid of biomass
(4) All of t.he above
85. Which one of the following ié found in tropical rainforests ?

(D Neem tree (2) Mahogany tree
(3) Teak tree (4) Sandalwood tree

MPH/PHD/URS_EE-2020 (Environmental Science) Code-B

(17)



Code—B '

Question Questions
No. _ T
_ i : ion ?
86. | Which one of the following lakes is formed due to wind aghon :
| @) Aeolian lakes (9) Shoreline lake
(3) Solution lake (4) Laterallake
87. | Siberian craneis regular visitor of which national park ?
(1) Keoladeo ndtional park
(@) Dudhwa national park
(3) Bandipur national park
- (4) Kanha national purk
88. | Law of minimum was given by :
(1) Shelford (2) Leibig
| 3 Blackman (4) Clement
89. | Red Data Book is published by :
| (1) TUCN (2) USEPA
| 3) WWF @ IG-BP
90, | The ér'ea where two m3jor communities méet and together is termed as :
(1) Ecads (2) Ecotype
' (3) Ecotone ' (4) Timber line
91. | How many ml. of 20 M NH, must be dilﬁted to 500.0 m] .
: . . to
* | solution: | | make a 0.80 M
(1) 10mL ~ (2) 20mL
3) 26mL (4) 8omlL

- MPH/PHD/URS-EE-2020 (Environmental Soipgn
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92. | The half-life of a radioactive material is 12 years. The radioactivity of this
material falls to of its initial value after 72 years.
1) e @ 18 |
(8) 1/16 (4) 1/64
93. | Which of the following is not a secondary air pollutant ?
| 1) PAN | . 2y O,
@ 80, . | 4) Acid rain
94, | 222Rn is unstable and decays by loamgs nettrons and 2 protons. The final
~ decay product is :
() 2%Bi | (g) 216
. @) 214P0 | : @) 21”1’.‘1’
95, The percentage of nitrogen in weais ____ .
(1) 23.83% @) 220%
(3) 40.6% @ 46.6%
96. : Which indicator is used in Winkler mothod titration during the estimation
of dissolved oxygeni in water ?
| (1) Potassium chromate (2) Starch selution
(3) Methylorange (4) Phenolphthalein
97. | Which of the follﬁwir_rg' is locating agent of amino acids in Paper
chromatography ? | .
(1) thydrm (2) . Methyl orange
(3) Phenolphthalein (4) Brilliant green dye

MPH/PHD/URS-EE-2020: (Environmental Science} Code B
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, 98. | Electrophoresis can not be used for the separation of :
| (1) Aminoacids (2) Proteins

(3) Lipids , 4) Nucleicacid

99. { SDB contains carbon atoms :
@) 6 @ 10 @) 12 @ 16 B

100.} Which of the following pesticide contains sulphur atoms ?

(1) Malathion (2) DDT

(3) 2,4D - (4) Carbaryl
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1. | The sequence of processes for production of ethanol from lignocellulosic

biomass is :

(1) Fermentation, Pre-treatment, mwanwﬂnmamson, Distillation
(2) Pre-treatment, mmonwmzmnmﬁoﬂi Distillation, Fermentation
3) _mmnnwmdhnmmoﬁ. Distillation, Pre-treatment, Fermentation

(4) Pre-treatment, Saccharification, Fermentation, Distillation

Which radioactive isotope is used in mm&ommnm._ dating ?

v o

(1) 526 W (2) 912W
(3 1016W 4) 23x108W

2.
| (1) Cobalt-60 " (2) Corbon-14
(3) Uranium-238 - (4) Technetium-99
3. | The temperature at the inner core’s surface of earth is estimated to be
approximately .
(1)’ 2200K (@ 3,500K
(39 4,700K @) 5700K
4. | The percentage of CO, in biogas is :
@ s0-65% @) 30-50%
@) 10-20% - (4 CO,is not present in biogas
5. | The rate of solar energy reaching the earth surface is

Swm\wﬂuawm,.mmlmomc Amuﬁuobﬂaug_ Science) Code-C
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Anemometer is used for the measure of

(1) Ambient temperature
(2) Humidity
(3) Altitude

(4 Wind speed

. | Correct arder of Uranium _%nmw series is :

(1) Uranium — Radium — Polonium — Thorium

(2) Uranium — Polonium — Radium — Thorium

' (3) Uranium -» Radium — Thorium —» Polonium

(49) Uranium —» Thorium — Radium — Polonium

- 8. | Pyrolusite is an ore of :
(1) Uranium (2) Niobium
(3) Manganese (4) Titanium
-9, | Velocity of geostationary aﬂu@ES with respect to earth is :
1 () zero | (@ 10ms
3) 10ms™ (4) 16ms?
'10. | The main constituents of Liquefied Petroleum Gas (LPG) are :

(1) Methane + ethane

(2) Ethane + propane -
(3) Propane +butane
(4) Butane + acetylene

gmﬁ%m—uamm.mmq.mame Quuinongaug_ Science) Oo.mm..o
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.wu.. Food chain always starts with .
(1) . Photosynthesis (2) Respiration
(3) Transpiration (4) Denitrification

12. | Vinegar is prepared from alcohol with the help of :

(1) Lactobacillus (2) Acetobacter
(3) Azotobacter (4) Rhizobium |

'13. | The diversity of habitats over.the landscape or geographical 2area is

known as : _ |
AC_ ~Alpha diversity (2) Beta diversity
(3) Gamma diversity (4) Species diversity

14. | Which of the following pyramid is always upright ?
(1) Pyramid of number

P RE————— R TRl

(2) Pyramid of energy
(3) Pyramid of biomass
(4) All of the above

wm | Which one of the m%@imum is found in tropical rainforests ?
(1) Neem tree (2) Mahogany tree
(3) Teak tree - (4) Sandalwood tree

MPH/PHD/URS-EE-2020 (Environmental Science) Code-C
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16. | Which one of the following lakes is formed due to wind action ?
_ (1) Aeolian lakes _ (2) Shoreline lake
(3) Solution lake (4) Laterallake
17. | Siberian crane is regular visitor of which national park ?
| (1) Keoladeonational park  (2) Dudhwa national park
(3) Bandipur nationalpark (4) Kanha national park
18 Law of minimum was given by :
(1) Shelford  (2) Leibig
(3) Blackman | (4) Clement
19. | Red Data Book is published by : |
(1) TUCN . (2) USEPA
(3) WWF (4 IG-BP
20. | The area where two major communities meet and together is termed as :
(1) Ecads | (2) Ecotype
(3) Ecctone (4) Timber line
21. | How ng ml. of 20 M Z.mu must vm diluted to 500.0 ml. to B&E a0.80 M
| solution :
(1) 10mL . (©® 20nL
@) 25mL (@ 8somL

MPH/PHD/URS-EE-2020 (Environmental Soic

nce) C "
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22, The half-life of a radioactive material is 12 years. The radioactivity of this

Em.nmﬁﬁ falls to . of its initial value after 72 years.
(1) we (2 18
@ 116 (4) 1/64
23, | Which of the following is not a secondary air pollutant ?
(1) PAN _ 2) O,
(3) SO,  (4) Acidrain
24. | *Rnis unstable and decays by _mem 6 neutrons and 2 protons. The final
mmnmw product i is ‘
) Bamﬁ - (2) 2€Bj
Amv m:myo . A&v E.n_.—a.w

25, _H_Wm percentage of Eﬂnommu inureais
1) 23.3% (@) 220%
3) g.m.vm (4) 46.6%

26. | Which indicator is used in Winkler method titration during the estimation
of dissolved oxygen in water ?

(1) Potassium chromate | (2) Starch solution
(3)  Methyl orange (4 Phenolphthalein

27. | Which om the following is locating mmma of amino acids in Paper

aruoBmaowumwrw |
9  Ninhydrin (2) Methyl orange
3) wrmao_uwﬂwm,_m_ﬁ (4) Brilliant green dye

ngmbawmlmmnwame (Environmental Science) Code-C
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mm.

Electrophoresis can not be used for the separation of :
(1) Aminoacids | | (2) Proteins
(3 Lipids (4) Nucleic acid

29.

'SDS contains carbon atoms :

(1 & @ 10 3 12 @4 16

30.

Which of the following pesticide contains sulphur atoma ?
(1) ' Malathion (2) DDT

(3 2,4D 4) Carbaryl

“H.

If the bﬂa&Bmﬂn mean o.». a set of two observations is 9 and its Geometric
mean is 6. Then the Harmonic mean of the set of observations is :

1 2 | @ 4

3 15 4 54

39

Gaussian Plume model is about :

(1) Microorganism growth

(2) Risk assessment
(3) Predator-prey interactions
(4) Air pollution dispersion. -

‘Chi-square curve ranges from :

(1) —woto+w (2) —®to0

3) Otow . (4 Oto1l -

- MPH/PHD/URS-EE-2020 (Eavironmental Scien
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| | @%ﬂ% Questions

'34. | Mode of the series 0,00, 2, w 3,38 10is:
(1 o @ 2
@ 3 __ @ 10

35. | The midpoint of the values after they have been ordered from the smallest

to the largest or the largest to the smallest is called :
(1) Mean | '(2) Median
(3) . Lower guartile (4) Upper quartile

- 36. | The probability of an event cannot be :
(1) 0.3 (2) 0.5
@) -05 _ (4) 1.0 | |

37. | What is the Median of the following set of scores ? 3, 6, 9, 4, 7, 2, 8

1 3 2 4 3 6 4) 9

38. | If all frequencies of classes are same, the value of Chi-square is
(1) Zero (2) One
(3) * Infinity _ (4) Can not be predicted

'39. | Which of the following radiations has maximum energy ?
(1) Infrared radiations
(2) Gamma radiation
(83) UVradiations
(4) Microwave radiations

MPH/PHD/URS-EE-2020 aadmwouamuaw_ Science) Code-C
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. 40.

Sardar Sarovar Dam is built on which river ?
(1) Krishna river | (2) Cauvery river
(3) Narmada river (4) Bhagirathiriver

41.

The groundwater of the Bangladesh is severely ﬁoﬂﬁmm by which heavy
metal ? .

(1) Lead | (2) Arsenic
(3) Cadmium (4} Mercury

42,

Which committee reviews the EIA and EMP reports of developmental
E&mﬁw in Ministry of Environment, Forest and Climate Change ?

(1) Project Assessment Committee

(2) Project Evaluation Committee

(3) Environmental Clearance Committee

(4) Environment Appraisal Committee

‘43,

Which of the following is not a step of EIA methodology ?
(1) Baseline study (2) Scoping
(3) Environmental auditing (4) Screening

44,

Which of the following methodologies can not be used for assessing the
impacts of any developmental activity on the environment ?

(1) Adhoc method (2) Flexible methog
(3) Overlay method (4) Matrix methog

MPH/PHD/URS-EE-2020 (Environment
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mcmﬂmon_ Questions
ﬁm _ .Ewo E-E.cmw of environmental factors listed on the vertical axis in Leopold
Matrix to carrying out the Mu&_.cuﬁmbg— Impact Assesesment :
1 22 2 4
(3) ©6 4) 88
46. | Which one represent the Environmental Management System ?
@) 1509001 (@ 15014001 |
(3) OHSASI8001 (4 ISO21001 |
..»q_. The amnonu» of environmental auditing in industrial units in India was
formally introduced in which year ?
(1) 1974 | (2) 1981
(3 1992 - (9 2006
48, | In EIA, Three overlapping phases : identification, prediction and evaluation
belong to : N |
' (1) Impact Analysis | (2) Decision making
. | | (3) Reporting | (4) Review
49. | The United Nations Commission on Sustainable Development (CSD) was
established by the UN General Assembly in which year ?
(1) 1992 | (2) 1999
@) 2016 (4) 2020

MPH/PHD/URS-EE-2020 (Environmental Science) Code-C
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60.

" Quﬁsﬁﬁn Questions
D. ;
| According to Solid Waste Management Rules, 2016, Special Economic Zones

(SEZ) to earmark at least of the total area of the plot for recovery
and recycling facility.
@ 1% @ 2%

(3) 3% @ 8%

i) 8

(3) Lead - Galena © (49 Mercury - Malachite

Which one of the following is not correctly matched ?
(1) Calcium - Dolomite (2) Uranium - Pitchblende

52.

{ The amount of water vapor in the air as a proportion of the maximum

amount the air could hold at the temperature is called as
(1) Relative humidity - (2) Dew point
(3). Evaporation rate (4 Infiltration

Which of the following is most abundant natural acid ?
(1) Hydrochloric acid (2) Phosphoric acid
(3) Carbonic acid  (4) Nitric acid

64.

Which one of the following is correct 7

(1) Soil organic matter (%) 1.472 x Soil organic carbon (%)
@ Soil organic matter (%) = 1. 724 x Soil organic carbon (%)
(3) So11 organic matter (%) = 0.68 x Soil organic carbon (%)
(4) Soil organic matter (%) = 1.274 x Soil organic carbon (%)

MPH/PHD/U RS—EE—2020 (Environmental Scie
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55. | The altitudinal distance of a geostationary 'aatellilte from the earth is

about
(1) 22,000km =~ (2) 28,000 km
(3) 36,000 km (4) 42,000 km

~ 56. | Which of the following is correct ?

(1) Refractive index of the ocean water increases with salinity

(2) Refractive index of the ocean water increases with temperature :

(3) Refractive index of the ccean water decreases with salinity &_I
- ?

(4) Refractive index of the ocean water decreases with temperature !
\ v N

67. . receives rainfall from both the South-West and North-WestE
monsoons. i

i

(1) Lakshadweep Islands ' :
2 Andaman and Nicobar Islands

(3) Tamilnadu

(4) Jammu and Kashmir

68. | Which of the following is not correct about Tropical cyclones ?

(1) Atropical cyclone is a rapidly rotating storm system characterized by
a low-pressure

(2) Tropical cyclones are steered primarily westward by the westerlies
3) Atleast 26.5 °C sea surface temperature is required for the formation

of a tropical cyclone

(4) Tropical cyclones are steered primarily westward by the Easterlies

MPH/PHD/URS-EE-2020 (Enviro:lmental Science) Code-C
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No. S _ ‘
| .59.‘ Which one of the following is the Intenéity scale of the earthquake ?

| (1) Richter scale (2) Merecalli scale
(3) Kelvinscale . (4) Mohs scale

'60. | Tsunamiiscausedby . :
(1) Earthquake ‘  (2) Hurricane
(3) Elnino (4) Land slides

61. | Which of the following is excluded from the scope of Basel convention ?
(1) Radioactive waste
(2) Clinical waste |
(3)_ Waste of explosive nature
(4) . Waste oils/water, hydrocarbons/water mixtures, emulsions

. 62. r Which one of the following is not a char_aci;eristics of hazardous waste ?
(1) Corrosivity ' (2) Toxicity
(3) Ignitability - (4 Biodegradability

63. | For the golle'ction of Anatomical waste colour plastic bags are used.
(1) Red - (2) Black
(3) Yellow (4) White

64. | If plaa.tlcs are burpt in incinerator at low temperature then v'vhich of the
following gases are produced ?
() Phosphine ® Dioxins and furapg

. (3) Radon (4) Acetylene gag
MPH/PHD/URS-EE-2020 (Environmental Sai —
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Quﬁfm{ Questions
The calorific value of solid waste can be determinedl experimentally

65,

| using

(1) - UV-Vis Spectrophotometer
@ ICP-Ms |

(3) Bomb calorimeter

(49 Flame photometer ’

66. | Which of the following scale is .used to determine the hardness of the solid
waste ? _ !
(1) Moh’s scale - (2) Kelvin’s scaie
| 3) Avogadro’s scale (4) Dobson’s scale
-67. | Incineration process is done at a temperature of
(1) 60—100°C (2) 350-600°C |
' {
(3) 850-1100°C - (4) 1500-2000°C
68. | Which one of the following is not a Composting method ?
(1) NADEP method (2) Bangalore method
(3) Mangalore Method (4) Indore method
69. is used as a natural liner m landfills.

(1) Clay - (2) HDPE
(3) Silt | (4) Gravel

MPH/PHD/URS-EE-2020 (Environmental Science) Code-C
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- 70. | Which of the following is not correct about Lotka — Yolterra model ?

(1) Deals with predator-pray interactions
(2) Ithas a pair of second-order linear differential equations

(3) This model assumes that the prey populatlon finds ample food at
all times '“

(4) ' This model assumes that predators have limitless appetite

71,

Whi;ch of the following is a Pozzolana, material ?
(1) Cement (2) Flyash
(3) Riversand | (4) Activated sludge

72.

' What are Bharat Stage VI (BS VI) standards ?

1 (3) Emission standard froim vehicles |

(1) Drinking water standards
(2) Ambient air quality standards

(4) Emission standard from brick kilns

73.

Which gland of human body is affected by Iodine deficiency ?
(1) Pituitary gland (2) Pineal gland
(3) Hypothalamus" (4) Thyroid gland

74.

The octane number of iso-octaneis __* ?
mo @1
@) 1 @ 100

MPHIPHDIURS—EE—2020 (Envxronmental Science) CodeC i
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75. ?hotolysis of NO, occurs due to the radiations of which wavelength ?
| @) | _<:390nm . (2) 400-450nm
() 500-574nm © (4) >bT4nm
73_, Which of the following has maximum tendency to Icombine with
haemoglobin ?
1) Co (2 NOx ?
@) SOx @ B
_77. | Which of the following is not a criteria air pollutant ?
1 CO 2 CO, i
| ® P . @ o,
~78. | Efficiency of primary production in an ocean is i
1) 0.02% (2) 02%
@) 2% 4 20%
79. | Wastewater detention time in Grit chamber is :
() 2minutes  (2) 2hours
(3) 8hours - (4) 2days
80. | In which season is the ozone found at its maximum level in the northern
hemisphere ? )
(1) Winter (2) Spring
(3) Summer (4) Autumn

MPH/PHD/URS-EF-2020 (Bavironmental Seionce) CodaC
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81. | In an isothermal process, the internal energy :

(1) increases
(2) decreases
(3) first increases then decreases

(4) remains constant

 82.| Wind roses typmally use _ cardmal directions..
(1 4 @2 8 (3) 16 4 32
83.| In which layer of the atmosphere, air is dry ?

(1) Troposphere
(2)- Stratosphere
(3) Thermosphere
(4) Ionosphere

Which among these has maximum pércentage (by volume) in dry air ?
(1) Carbon dioxide ~ (2) Argon
(3) Methane - (4 Hydrogen

85.

Which of the following is not amongst the components of photochemical
smog ?

(1) Unsaturated hydrocarbon (2) NO,
@) SO, (4) Ozone

MPHIPHDIURS—EE—QG‘ZU (Environmental Scieng
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86..

' (1) Neotropical (2) Palaearctic
@ Ethmplan | "' (4) Oriental

‘India is cansidered under which region in zoogeography ?

87.

Which of the following is iongeat mountain range ?
(1) TheAndes = “ |

(2) The Himalayas | ;
(3) The Ural Mountains

@ The Kunlun Mountains

 ——r

‘88.

The correct sequence of four stages of water movement in the hydrologicaig

' (1) Evaporation - Condensation - Precipitation - Infiltration
| @ Evaporation - Precipitation - Condensation - Infiltration

| (4) Precipitation - Evaporation - Infiltration - Condensation

cycleis :

(3) Precipitation - Evapofatioﬁ - Condensation - Infiltration

89,

In an ecosystem, energy flow is :
(1.) Always unidirectional

(2) Always bidirectional

(3) Inany direction

4) AiwaYs down direction

MPHIPHDIURS—EE—2G20 (Environmental Sc:ence) Code-C
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90. The number of ’fhe'Sustaiﬁabla Develoﬁment Goals (SDGs), adopted by all
Umted Nations Member States in 2015 is ’
M 7 @12 @ 9
91. | As per IS 10500 : 2012, Acceptable limit of nitrate (as NO) in drinking
' wateris: .
(1) 15mg/lL (2) 45mg/L
@ 55mglL. 4 100melL
92. | Aa per the Noise Pollution (Regulation and Control) Rules, 2000, the night
time limits of noise m rsmdentml area is :
(1) 35dB(A) Leg @ 45 dB @) Leq
3) | 55 dB (A) Lﬂq L @ 75dBQA) Leq
93. | According to
| ccording the amount of gas dlsaolved in a hqlud 18 proportional
to its partial pressure above the hqw.d
(1) Dalton’s Law (2) HenrysLaw
(3) Gay Lussac’s Law 4 Raoult’s Lay
94.

{ @ Jackson Candle method

Sulphur dioxide in ambient air is determined by :
(1) Modified West and Gaeke Method |

(3) - Jacob and Hochheiser mothﬂad Methog
(4) GasPhase Chetiluminescence method

MPHIPHDIURS—EE—L’MO (Env:ronme
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Q“Nei:on : Questions

95. | “Fanning” plumes are obtained under :
(1) unstable atmosphere

1 (@ neutral atmospheric conditions

| 3) ’ super adiabatic environment

{ (4) extreme inversion condition

96. | After 6 days of incubation at 2@"0; the residusal dissolved oxygen in blanks 3

was 7.80 mg/L and in a 0.1 percent dilution of the waste was 2.30 mg/L.

What is the 5-day BOD of the waste?

(1) 56mgf © 550meL.
(3) 5500 mg/L @ 55000 mg/L

97. | How much oxygeﬁ (0, in gm is required for complete combustion of 44g of

propane ? |
1) 82g @ e4g
g : (3) 82g" . 1) 160¢g i

- 98. | Turbidity of water can be determined by :
: (1) Hydrograph

| 20 Nephelometer |

1 (3l)' Atomic absorption Ispec'trophotometer
(4) Liquid Scintillation coutiter |

MPH/PED/URS-EE-2020 (Environmental Science) Code-C
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99. | The soil order “vertisol” is related to : |
(1) Alluvialsoil " (2) Red soil
(3 Blacksoil © (4) Laterite soil

i

100. Whlch one of the following is not suitable worm species for
"y vermlcomposnng ?

(1). Eisenia fetia

- (2) Eudrilus eugeniae
(3) Pheretima posthuman
(49) Periohyx excgvdtus

MPHIPI-ID!URS-EE—EMB {Envir(znmental Sc-.i'en-ce)‘ Code-;C .
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tion .
_u§~‘:) ) Questions
1. | In an isothermal process, the internal energy :
(1) increases
(2) decreases
(3) first increases then decreases
(4) remainsconstant
2. | Wind roses typically use cardinal directions.
(1 4 2 8 (3) 16 4 32
3. | In which layer of the atmosphere, air is dry ?
(1) Troposphere
(2) Stratosphere
(8) Thermosphere
(4) Ionosphere
| 4. | Which among these has maximum percentage (by volume) in dry air ?
(1) Carbon dioxide (2) Argon
(3) Methane (4) Hydrogen
5. | Which of the following is not amongst the components of photochemical

smog ?
(1) Unsaturated hydrocarbon (2) NO,
3) SO, . (4) Ozone

MPH/PHD/U'RS-EE—%% (Environmental Science) Code-D
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6. India is considered under which region in zoogeography ?
(1) Neotropical | (2) Palaearctic
(3) Ethiopian (4) Oriental

7. | Which of the following is longest mountain range ?
(1) The Andes

(2) The Himalayas

3) Thé Ural Mountains

| 4) The Kunlun Mountains

8. | The correct sequence of four stages of water movement in the hydrological
cycle is : S |

(1) Evaporation - Condensation - Precipitation - Infiltration

(2) Evaporation - Precipitation - Condensation - Infiltration

(3) Precipitation - Evaporation - Condensation - Iﬁﬁltration

(4) Precipitation - Evaporation - Infiltration - Condensation

: 9._ Inl an ecosystem, energy flow is :
(1) - Always unidirectional |

(2) Always bidirectiotial

3) Inany djre.ction

(4) Always down direction

- MPH/PHD/URS-EE-2020 (Environmental Science) Code-D
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10.

The number of The Sustainable Development Goals (SDGs), adopted by all
United Nations Member States in 2015 is

@ 7 2 12 @) 17 @ 24

11.

Which of the following is & Pozzolana, material ?

| 1) Cement (2) Flyash

(3) River sand “4) Activated sludge

12.

What are Bharat Stage VI(BS 'V'I) stan&ards ?
(1) Drinking water stahdards

| (2) Ambient airquaﬁtygtaudards N

(3) Emlssmn standard from velncles ‘
(4) Emission standard from brtck k:llns

13.

Which gland of huﬁiah Bt_)dyhia aﬁ'eCted byludine deficiency ?
(1) Pituitary gland -

(2) Pineal gland

3) Hypo:th'alamﬁa |

(4)_ Thyroid .glaml

14.

Thé octane number qf isofwtane isl a ; ?_ |
@ o . @ 1
3) 10 - 4) 100

MPH/PHD/URS-EE-2020 (Environmental Science) Code-D
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' Q“;?"‘{ Questions

15. Photolysis of N O, occurs due to the radiations of which wavelength ?
| @ <3900m

@) 400450 mm

(3) 500-574 nm

(4) >574nm

" 16. | Which of the following has maximum tendency to combine with

haemoglobin ? =
@ co -  (® NOx
(3) SOx S @ m

17. | Which of the following is not a criteria air pollutant ?
1y co @ €O,
@ P K @ o,

" 18. Efficiency of primary production in an oceanis . :
(1) 0.02% , @) 02%
@) 2% @ 20%

.1I9. ' Wastewater detention time in Grit chamber is
(1) 2minutes " (@) 2howrs

(3) 8hours - (@ 2days

- MPH/PHD/URS-EE-2020 (Environmental Science) Code-D
| @



Code-D

| Qu§s:10n Questions

20. | In which season is the ozone found at its maximum level in the northern
hemisphere ?

(1) Winter © Spring
3) Summer (4) Autumn

'21. | Which of the following i 18 excluded from the scope of Basel convention ?
(1) Radioactive waste

(2) Clinical waste
(B) Waste of explosive nature
(4) Waste oils/water, hydrocarborislwater m:xtures, emulsions

-22. | Which one of the fo]lomng isnot a charactenstlcs of hazardous waste ?

(1) Corrosivity (2) Toxicity
| @ Ignitability (4 Biodegradability
'23. | For the collection of Anatomical waste _____ colour plastic bags are used.
(1) Red (2) Black
3) Yellow (&) White

24, | If .plasticé are burnt in incinerator at low temperature then which of the
following gases are produged ?

(1) Phosphine |
(2) Dioxins and furans
(3) Radon

(€] | Acetylene gas

MPH/PHD/URS-EE-2020 (Environmental Science) Code-D
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25. | The calorific value of solid waste can be deter

mined experimentally

using __
(1) UV-Vis Spectrophotometer
(2) ICP-MS

(3) Bomb calorimeter

4) Flame photometer

26. | Which of the following scale is used to determine the hardness of the solid

waste ?
(1) Moh’sscale ~ (2) Kelvin'sscale

(83) Avogadro’s scale (49 Dohson’sscale

27. | Incineration process is done at a temperature of _____
(1) 60-100°C (2) 350-500°C
3) 850—1100°C (4 1500—2000°C

'28. | Which one of the following is not a Composting method ?
(1) NADEP method

(2) Bangalore method

(3) Mangalore Method

(4) Indore method

29, isused as a naturél liner in landfms.

(1) Clay (2) HDPE
(3) Silt " (4) Gravel
MPH/PHD/URS-EE-2020 {Environmental Science) f—=— _ ]
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30. | Which of the following is not correct about Lotka — Volterra model ?

(1) Deals with predator-pray iriteractions
(2) It has a pair of second-order linear differential equations

(3) This model assumes that the prey population finds ample food at

- all times

(4) This model assumes that predators have limitless appetite

31. | As per IS 10500 : 2012, Acceptable limit of nitrate (as NO,) in drinking
wateris : :
(1) 15mg/L o {2) 46 mefl
8) 55mg/L @ 100mgL
32. | As per the Noise Pollution (Regulatmn and Control) Rules, 2000, the night
' time limits of noise in resldentlal area is :
(1) 35dB (A)Leq . (2) 45dB (&) Leq
3) 55dB(A)Leg (4) 75dB (A) Leq
33. | According to _____ the amount of gas dissolved in a liquid is proportional

to its partial pressure above the liquid.
(1) Dalton’s Law

(2) Henry'sLaw

(8) GayLussac’'sLaw -

(4) Raoult’s Law

]
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34.

Sulphur dioxide in ambient air is determined by :
(1) Modified West and Gaeke Method

(2) Jackson Candle method

(8) Jacob and Hochheiser modified Method

(4) GasPhase Chemiluminescence method

35.

| (2) neutral atmospheric conditions

“Fanning” plumes are obtained under :

(1) unstable atinosphere

(3) super adiabatic environment

(4) extreme inversion condition

36.

| After 5 days of incubation at 20°C, the residual dissolved oxygen in blanks

was 7.80 mg/L and in a O.I'percén't dilution of the waste was 2.30 mg/L..
What is the 5-day BOD of the waste ?

(1) 55mg/L | (2) 550 mg/L,
() 5500mgL  (4) 55000 melL

37.

propane ?
(1) 32g ‘ (2) 64g
(3) 82¢g (@) 160g

MPH/PHD/URS-EE-2020 (Environment;al Sc
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38.

Turbidity of water can be determined, by :
(1) Hydrograph |

(2) Nephelometer

3) | Atomic absorption spectrophotometer
(4) Liquid Scintillation counter

39. | The soill order “vertisol” is related to :

(1) Alluvial soil - (2) Red soil

| 3) Black soil - (4) Laterite soil

40. | Which one of the follow_ilﬂr,l.g_is not suitable worm species for
| vermicomposting ?

(1) Eisenia fetia (2) Eudrilus eugeniae

(3) Pheretima pqst_human 4) Pefiohyx excavatus
41. | Which one of the following is not correctly matched ?

- (3) Lead- Galena (4) Mercury - Malachite

(1) Calcium - Dolomite (2) Uranium - Pitchblende

42,

The amount of water vapor in the air as a proportion of the maximum

amount the air could hold at the temperature is called as
(1). Relative humidity (2) Dew point
(3) Evaporation rate (4) Infiltration

MPH/PHD/URS-EE-2020 (Envi_ronmentﬂ 'Science) Code-D
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Which of the following is most abundant natural acid ?
(1) Hydrochloric acid (2) Phosphoric acid
(8) Carbonic acid - (4 Nitric acid

44,

_ (3) Soil organic matter (%) = 0.58 x Sail organic carbon (%)
- (4) Soil organic matter (%) = 1.274 x Soil organic carbon (%)

Which one of the following is correct ? :
(1) Soil organic matter (%) = 1.472 x Soil organic carbon (%)
(2) Soil organic matter (%) = 1.724 X Soil organic carbon (%)

- 45.

' The altitudinal distance of a geostationary satellite from the earth is
| about | | '

(1) 22,000 km 7 (2) 28,000 km
3) 36,000km . (4) 42,000 km

4B.

- Which of the following is correct ?

(1) Refractive index of the ocean water increases with salinity
(2) Refractive index of the ocean water increases with temperature

(3) Refractive index of the ocean water decreases with salinity

(4) Refractive index of the ocean water decreases with temperature

47,

| receives rainfall from both the South-West and North-West

monsoons.

(i) Lakshadweep Islands

(2) Andaman and Nicobar Islands
8) Tamilnadu |

(4) Jammuand Ij(_ashmir

MPHIPHD/URS—EE—2020" (Environmental Science) Code-D
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48.

Which of the following is not correct about Tropical cyclones ?

(1) A tropical cyclone is a rapidly rotating storm system characterized by

a low-pressure

) Tr0pical cyclones are steered primarily westward by the westerlies

(3) Atleast 26.5 °C sea surface temperature is required for the formation

- of a tropical cyclone

(4) Tropical cyclones are steered primarily westward by the Easterlies

49. | Which one of the following is the Intensity acalel of the earthquake ?
(1) Richter scale | (2) Mercalli scale
(3) Kelvinscale (4) Mohs scale
- 50. | Tsunami is caused bjr — |
) Earthqﬁé.ke (2)° Hurricane
(3) - Elnino ‘ (4) Land slides
'51. | Food chain always starts with

(1) Photosynthesis (2) Respiration
(38) Transpiration ' (4) Denitrification

52.

Vinegar is prepared from alcohol with the help of :
(1) Lactobacillus | (2) Acetobacter
(3) Azotobacter | (4) Rhizobium

(11
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53. | The diversity of habitats over the landscape or geogr aphical 2area is
known as: | |
(1) Alpha diversity (2) Beta diversity
| (3) Gamma diversity | (4) Species diversity
64. | Which of the following pyramid is always upright ?
| (I) Pyramid of number
- (2) Pyramid of energy
(3) Pyramid of biomass
{ (4) All of the above
. B5. | Which @e of the %ollomng is f’ound in t;‘opical rainforests ?
1 @) Neem tree | (2) Mahogany tree
| @ Teuk tree -(4) Sandalwood tree
68. _ Which ore of the followitig lakes is formed due té ﬁind action ?
(1) Aeolianlakes (@ Shoreline lake
(3) Bolutionlake (4) Lateral lake
57. | Siberian crare is regular visitor of wh'ic'h national park ?
[ (1) Keoladeo fistional park
1@ Dnal‘iwa national park
| (3) Bandipur national park
(4) - Kanha national park
MPH/PHAD/URS-E}

-2020 (Ehvﬂ‘lgg)neutal Science) Code-D
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58. | Law of minimum was giveﬁby:
(1) Shelford (2) Leibig
(3) . Blackman (4) Clement

'59. | Red Data Book is published by :
| 1) IUCN (2) USEPA
@) WWF 4 I1G-BP

60. | The area where two major comtiranities meet and together is termed as :
| (1) Eecads | (2) Ecotype
I 3) Ecotone (4) Timberline

61. | The sequerce of processes for pfoduc’_tinn of ethanol from lignocellulosic

| biomaés is:

(1) Fermentation, Pre-treatment, Saecharification, Distillation
(2) Pre-tfeatment, Sacchari:ﬁcation, D.isti]lation, Fermentation
(8) Saccharification, Distillation, Pre-treatment, Fermentation

(4) Pre-treatment, Saccharification, Fermentation, Distillation

62. | Which radioactive isctope is used i geological dating ? -
(1) Cobalt-60 (2) Corbon-14
(3) Uranium-238 (4 Technetium-99

MPHIPHDIﬁRS;EE-2020' (Environtiiental Science) Code-D
| | (13)
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63. | The temperature at the inner core’s surface of earth is estimated to be
approximately )
(1) 2,200K - (2) 38,500K
3 4,700K (4) 5,700K
84. | The percentage of €0, in biogas is :
} (1) 50-65% (2) 30-50%
' (3) 10-20% (4) CO,is not present in biogas
65. | The rate of solar energy reaching the earth surface is ;
1 (1) 526W (2) 912W
' (3) 1016W @ 23x10°W
- 66. | Anemometer is used fo‘.r the measure of .
| (1) Ambient temperature (2) Humidity -
(3) Altitude | (4) Wind speed
67. Correet order of Uranium decay series is :

(1) ' Uranium — Radium - Polonium — Thorium

' (2) Uranium — Polonium — Radium — Thotium

(3) Uranium — Radium — Thorium — Polonium

(4) Uranium —» Thorium — Radium — Polonium

MPHII""HDIURS—E‘E—%'-ZO- (Environmental Science) Code-D
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68. | P yrolusite is an ore of :
(1) Uranium (2 Niobium
(3) Manganese @) Titanium
69. | Velocity of geostationary satellite with respect to earth is :
(1) zero (2) 1.0m s
| & 10ms? 4 15ms
'70. | The main constituents of Liquefied Petroleum Gas (LPG) are :
(1) Methane +ethane = (2) Ethane + propane
(3) Propane + butane (49 Butane + acetylene
'71. | The groundwater of the Barigladesh is severely polluted by which heavy

metal ?
1 (1) Lead (2) Arsenic

| (3) Cadmium (1) Mercury

12, |
' (1} ~ Project Assessment Comimittee

' (8) Environmental Clearance Committee

' (4) Environment Appraisal Committee

Which committee reviews the EIA and EMP reports of developmental
projects in Ministry of Environment, Forest and Climate Change ?

(2) Project Evaluation Committee

MPH/PHD/URS-EE-2020 (Environmental Science) Code-D
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13,

Which of the following is not a step of EIA methodology ?
(1) Baseline study (2) Scoping
(3) Environmental auditing (4) Screening

14,

‘| impacts of any developmental activity on the environment ?
| (1) Adboc method

| @ Flexible method

@) Ovetluy méthod

| 4) Matrix method

Which of the following nie'thbdologies can not be used for assessing the

75. |

- Matrix to carrying out the Environmental Impact Assessment -
1o o2 - )&
| @ & - aw

The number of environmental factors listed on the vertical axis in Leopold

76,

| (3 OHYAS 18001 (4) 18021001

Which one represent the Environmental Management "System ?
(1) ISO9001 - (2) IS0 14001

1 o

_ formally introduced in which year ?
{ -(1) 1974 (2) 1981
| (3 1992 (4 2006

The concept of environmertal auditing in industrial units in India was

MPHIPHDIURS—EE—ZU% (Eﬁvimnmental Science) Cdde.])
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78. | InEIA, Three overlapping phases : identification, prediction and evaluation
| belong to : |
(1) Impact Analysis " (2) Decision making
| (3 - Reporting (4) Review
79, | The United Nations Commission on Sustainable Development (CSD) was
| established by the UN Genetal Assembly in which year ?
| (1) 1992 (2) 1999
(3) 2016 @ 2020
80. | AccordingtoSelid Waste Management Rules, 2016, Special Economic Zones
T 1 (SEZ) to earmark at least _____ of the total area of the plot for recovery
| and recycling facility. |
1) 1% @ 2%
3 3% @ 5%
81. | How many ml. of 20 M NH, must be diluted to 500.0 ml. to make a 0.80 M
sohition :
(1) 10mL (2) 20mL
1 (8 25mL | (4) 80mL
82, | THe half-lifé of & radioactive material i8 12 years. The radioactivity of this
' material falls to of its initial value after 72 years.
(1} 176 @) 8
3) 12186 @ 164

MPH!PH_D/iJVI*{S'-uEE'—ﬁOZIO' {Environmental Science) Code-D
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. 83. | Which of the fbllpwing is ﬁot a secondary air pollutant ?
o AN | @ O, |
3 SOy (4) Acid rain
84. | =Rn is unstable and decays by losing 6 neutrons and 2 protons. The final
decay product is
{ (1) 2%Bj | (2) 9Bj
| @ =Po () 27Ty
85. | The percentage of nitrogen in ureais
(1) 23.3% @ 220%
1 ® 4w08% (@) 486%
;8_6; Which indieator is used in Witikler mrethod titration during the estimation
| of dissolved oxygen in water ?
(1) Potassiumchromate (%) Starch solution
} (3) Methyl orange (4) Phenolphthalein
8. Which of the following is locatmg agent of amino acids in Paper
chromatogtaphy ?
(1) Ninhydrin _ (2) Methyl orange
_1 (3) Phenolplithalein (4) Brilliant green dye
88 i Electmphoresis can not be used for the separation of
(1) Amnrinoacids ~ (2) Proteins
{ (9 Lipids (4) Nucleic acid

MPH/PHD/URS-EE-2020 (Environmental Soig
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89. SD._S contains carbon atoms :

-_'_(I) 6 @ 10 % 12 @ 16

90. | Which of the following pesticide cpntains sulphur atoms ?
| (1) Mulathion @ DpDT |
3 2,4D (4) Carbaryl

91. | Ifthe Arithmetic mean of a set of two observations is 9 and its Geometric
mean is 6. Then the Hé}_-moﬁic mean of the set of observations is :

[ @ 2 @ 4 @B @ b
92. | Gaussian Plume mo&ellis &buni:. -

| () Microorgasism growth

| (2) Risk assessment

(3) Predator-prey interactions

| (4) Airpollition dispersion

93. | Chi-square curve ranges from :
@ -=tote @ -wto0
1 (@) Otow | @) Otol

g2, | Mode of the series 0,0,0, 2,2, 3, 3,8, 10is: -
(O @ 2
@ 3 @ 10

MPH/PHD/URS-EE-2020 (Environmental Science) Code-D
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- 95. | The midp.oiﬁt of the values after they have been ordered from the smallest
to the largest or the largest to the smallest is called :

(1) Mean (2) Median
(3 Lower quartile (4) Upper quartile

96. | The prqb‘abi]ity of an event cannot be :

1 @) 03 (2 056 3) -0.5 @ 1.0
7. What is the Median of the following set of scores 7 3,6, 9,4, 7, 2, 8:
(1) 3 @ 4 ERCOR: @ 9
- 98, | If all frequencies of classes are same, the value of Chi-squareis _____ :
1@ Zero @ One

{ (3 Infinity (#) Can not be predicted

| 98 Which of the following radiations has maximum enérgy ?
g : (1) Infrared radiations - (2) Gamma radiation
{ @ UVmadigtions (4) Mierowave radiations

10,'0.'_ Sardar Sarovar Dam is built en which river ?
{ (O Krishnariver - (2) Cauvery river
(3) Narmada river (4 Bhagirathi river
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